## Form 1: Research Performance Scoring Form for Faculty Promotion of the College of Engineering of National Sun Yat-sen University

Applicant's Name:	icant's Name: Responsible Unit: Rank to be Promoted:			
		A. Research l	Performance (70%)	Maximum 70 Points
A1. External Revi	ew: 75%	0	A2. Research Project Subsidies and Other Relevant Achievements at the Current Rank within Seven Years **: 25%	(A1+A2) X 70% Total Score
Three External Reviewers' Scores for Technical Report	Points	Score Conversion	Aa: Research projects of the Ministry of Science and Technology with recognition from the Office of Research and Development:         Commissioned       12 points per project lasting six months or longer Research per year; 6 points per project lasting less than six Project months per year         Special       3 points per project lasting six months or longer Research per year; 1.5 points per project lasting less than Project six months per year         Mathematical Science       3 points per project lasting six months or longer Research per year; 1.5 points per project lasting less than Project six months per year         Total:	

Excellent	2	$\backslash$	Ad: Obtain an invention or design patent with research outcome on			
Great	1.5	behalf of NSYSU or transfer the invention or design patent obtained on personal behalf to NSYSU as the principal inventor				
		with recognition from the Office of Global Industry-Academe				
Good	1		Collaboration and Advancement (except for patents jointly owned			
Fair	0		with any suppliers); 1 point per patent issued in Taiwan and China;			
			2 points per patent issued in the US, Japan and the EU; points for patents issued in any other country will be determined by the			
Poor	-1		Office of Global Industry-Academe Collaboration and			
Poor			Advancement. A maximum of 2 points will be given for Ad.			
			Total:Point(s)			
	6.0 points	100 points x 0.75 = 75.00 points	Ae: Transfer technology or authorize copyright to the private sector			
			(including companies and judicial persons) as the principal inventor with recognition from the Office of Global			
			Industry-Academe Collaboration and Advancement; 0.5 points for			
	5.5 points 90 points x 0.75 = points		accumulating NT\$200,000 of authorization fee; 0.25 points for			
		•	every additional NT\$100,000.			
		ponno	Total:Point(s)			
	5.0 points	80 points x 0.75 = 60.00 points	Af: Cooperative education projects commissioned by a			
			non-governmental organization (company or judicial person) with			
			recognition from the Office of Global Industry-Academe Collaboration and Advancement:			
			1 point for serving as the principal investigator for a project with			
Total Converted Points Given by 3	4.5 points	75 points x 0.75 = 56.25	the accumulative value of NT\$0.5 million; 0.1 points for every			
Reviewers		points	additional NT\$100,000.			
			Total:Point(s)			
	4.0 points	70 points x $0.75 = 52.50$				
		points	Ag: Cooperative education projects commissioned by a governmental organization (including industry-academia projects of the Ministry			
	3.5 points	65 points x 0.75 = 48.75 points	of Science and Technology) with recognition from the Office of			
	3.0 points	60 points x 0.75 = 45.00 points	Global Industry-Academe Collaboration and Advancement:			
			1 point for serving as the principal investigator for a project with			
	2.5 points	55 points x 0.75 = 41.25 points	the accumulative value of NT\$1 million; 0.1 points for every			
			additional NT\$200,000. (Please choose one between Aa-1 and Ag)			
			Total:Point(s)			
l						

		<b>Ah</b> : Teaching projects of the Ministry of Education with recognition			
2.0 point	50 points x 0.75 = 37.50 points	from the Office of Academic Affairs; 1 point for the accumulated			
2.0 point		value of NT\$1 million; 0.5 points for the accumulated value under			
		NT\$1 million; points are only given for each project once; in the			
1.5 point	45 points x 0.75 = 33.75 points				
		contribution, while points will be given pro rata. Total:Point(s)			
1 point	40 points x 0.75 = 30.00 points	Ai: Teaching Practice Research Program of the Ministry of Education; 3 points per project per year Total:Point(s)			
0.5 point*	35 points x 0.75 = 26.25 points	Total: Point(s)			
		A maximum of <b>25</b> points can be granted for A2. Total:Points			
Total Score of Research Performance $(A1 + A2) =$					

Note:

\*The converted score of 30 applies to any value less than 0 point. \*\*Achievements recognized for previous promotions are no longer applicable.

\*\*\* Projects which the applicant worked on as the co-principal investigator/collaborator will not be recognized in order to prevent double counting.

## Final Form: Overall Performance Scoring Form for Faculty Promotion of College of Engineering of National Sun Yat-sen University

Applicant's Name:		Responsible Unit:			Rank to be Promoted:				
1. Research Performance (70%)		2. Teaching Performance (20%)				3. Service Performance (10%)			
A1. External Review: 75%		Item			Item Po		Points		
			iven by the Department/Institute Faculty Committee × 80% = Basic Score		Departme	rvice score given by the ent/Institute Faculty Evaluation nittee × 80% = Basic Score			
			Achievement (add 0 – 10 points)			(1) Achievement (add <b>0 – 10</b> points)			
	Bonus Points Granted by the College Faculty Evaluation Committee	Bonus Points for	<ul> <li>(1) 12 points for the Outstanding Teaching Award of NSYSU, 9 points for the Distinguished Teaching Award of NSYSU, and 5 points for the Outstanding Teaching Award of the College of Engineering from the 1998 academic year (points are only given for each award once)</li> </ul>		Bonus Points Granted by the College Faculty Evaluation Committee	(2) Outstanding Homeroom Teacher Award at university/college level (12 points for the Outstanding Homeroom Teacher Award of NSYSU and 5 points for the Outstanding Homeroom Teacher Award of the College of Engineering; points are only given for each award once)			
<ul> <li>A1. Converted Score of External Review for Publication: Points</li> <li>A2. Research project subsidies from the Ministry of Science and Technology and other academic achievements after the last promotion or within seven years: 25%</li> <li>A2. Total: Points</li> </ul>	(Maximum 20 Points)	- 1·	(2) 7 points for the Outstanding Teaching Award of NSYSU and 5 points for the Outstanding Teaching Award of the College of Engineering before the 1997 academic year (points are only given for each award once)		(Maximum 20 Points)	<ul> <li>(3) Serve as an administrative executive (of any academic or administrative unit under NSYSU) for at least one year (add 0 – 5 points)</li> </ul>			

(A1+A2) Total:Points	Deduction	DeductionPoor teaching performance with solid supporting evidence (Deduct 0 – 15 points)		Deduction	Poor service with solid supporting evidence (Deduct 0 – 15 points)
<b>Research Performance</b> $1 = \_ \times 70\% =$	Subtotal	<b>Teaching Performance</b> $2 = \underline{\qquad} \times 20\% =$		Subtotal	Service Performance 3 =×10% =
1+2+3=Score*					

- \*Note 1: A promotion application is approved by the College of Engineering if the applicant scores 70 or above. The application will be sent to the University Faculty Evaluation Committee for final review.
- \*Note 2: Points for items listed in A2 are granted based on the Faculty Promotion Scoring Form (except for the score of external research review) of National Sun Yat-sen University (amended and approved at the 392nd University Faculty Evaluation Committee Meeting on March 21, 2019; effective from the spring semester of the 2018 academic year).